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4=22.6
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= 3 99 —2. 00
-3.00/| -3.00 < a0 -
~4.00 | —4.00
~10. 00| =10. 00

FORUMS8



D

2)

G.L.(m) 0.000
G.L.(m) |  -3.000
G.L.(m) |  -2.000
G.L.(m) | -3.000
q KN/m? 22.63
q kN/m? 0.00
No \
3 ) )
G.L.(m) | G.L.(m) N/ | (k)
1| 0.000| -2.000 10.0 16.0 7.0| 30.0| 15.0
2| -2.000| -3.000 10.0 16.0 7.0 30.0| 150
3| -3.000| -4.000 10.0 16.0 7.0| 300| 150
4| -4.000 | -10.000 10.0 17.0 8.0| 0.0/ 150
5| -10.000 | -30.000 30.0 18.0 9.0| 36.0| 15.0
No qu
Co k ; kH
vy | oy |oeaany | KV vy
1 0.0 0.0 0.000 0.0 17599
2 0.0 0.0 0.000 0.0 17599
3 0.0 0.0| 0.000 0.0 17599
4 30.0 0.0| -4.000 60.0 | 17599
5 0.0 0.0 | -10.000 0.0 27401
No N
s s ) | ()
G.L.(m) | G.L.(m) N/ | (k)
1| -3.000| -4.000 10.0 16.0 7.0| 30.0| 15.0
2| -4.000 | -10.000 10.0 17.0 80| 00| 150
3| -10.000 | -30.000 30.0 18.0 9.0| 36.0| 150
No qu
Co k > kH
avmy | oy | el | KV av
1 0.0 0.0 0.000 0.0 17599
2 30.0 0.0| -4.000 60.0 | 17599
3 0.0 0.0 | -10.000 0.0 27401

FORUMS8
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= 4,01 (kN/m%
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H

3.500\° 2
=1+ - —X
4. 000 7

tar Xs 2 [Xs
an - —
1 z \W

3.500\" . {3.500 2 3. 500
1+ X tan’’ - —X
4. 000 4. 000 T 4. 000

= 0.401
Q- (kN/m?)
0: (kN/m?)
[ P
Xs: (m
Xs =L +L +L
= 1.000 + 2.000 + 0.500 = 3.500 (m)
L. (m)
L, (m)
Ls (m)
H": (m)
H* = H + h =3.000 + 1.000 = 4.000 (m)
(m
(m

G = v ~h -1
18. 00 X 1. 000 X 0. 479
2

8.63 (kN/m")
L 2 L
I, =1+ [—] - =1+ =
i) ()

2.000\° 2
=1+ [
7T

2

(L 2 (L
tant|—] - —|[—
H 7 \H
2.000\° . {2.000 2 2. 000
X {1 + X tan’’ - —X
3. 000 3. 000 T 3. 000

Qu: (kN/ mz)
Y : (kN/m®)
: (m

3. 000
= 0.479
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2 0
L=L+—=1.000 + = 2. 000 (m)
ZZIZ,
L : IR E TOBEN (m)
L, : ¥ E (m)
H: (m)
KN/ KN/ KN/
4.01 8.63 12.63
2)
pa* = max(pal,pa2)
pal=Ka(th+ )
COS1
2
COS
Ka’ = ¢ .
sin(¢+6)sin(¢p—i)
cos 6 |1+ ;
cos 0 cosi
Ka = Ka'cos§
pa2 = 0.0
pal = (Xy h+q) - 2c
pa2 = Ke(Zy h + q)
Kc = 0.5
i = 0.000°
No GL(m) ?m) (0] kN?mz 0 > rh+q Ka pal pa2 pa*
v ) () | kv KN/ KN/ kN/m*
1 0.000 | 2.000 | 16.0 | 30.00 0.0 | 15.00 22.63 | 0.291 6.59 0.00 6.59
-2.000 0.0 54.63 15.91 0.00 15.91
2 -2.000 | 1.000| 7.0 | 30.00 0.0 | 15.00 54.63 | 0.291 15.91 0.00 15.91
-3.000 0.0 61.63 17.94 0.00 17.94
3 -3.000 | 1.000| 7.0 | 30.00 0.0 | 15.00 61.63 | 0.291 17.94 0.00 17.94
-4.000 0.0 68.63 19.98 0.00 19.98
4 -4.000 | 6.000| 8.0 0.00 30.0 | 15.00 68.63 | 1.000 8.63 34.32 34.32
-10.000 30.0 116.63 56.63 58.32 58.32
5| -10.000 | 20.000 | 9.0 | 36.00 0.0 | 15.00 116.63 | 0.230 26.80 0.00 26.80
-30.000 0.0 296.63 68.16 0.00 68.16
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pp = Kp(Z yh + q)
, cos’ ¢
Kp = >
sin(¢+0)sine
cos 6 | 1=
cos 6
Kp = Kp' cosd
pp=CEyh+aq)+2
No h c
GL(m) (0] ) 0 > rh+q pp
M Ly |y [N C Sy e Ko | e
1 -3.000 1.000 | 7.0 | 30.00 0.0 | 15.00 0.00 | 4.807 0.00
-4.000 0.0 7.00 33.65
2 -4.000 | 6.000 | 8.0 0.00 30.0 | 15.00 7.00 | 1.000 67.00
-10.000 30.0 55.00 115.00
3| -10.000 | 20.000 | 9.0 | 36.00 0.0 | 15.00 55.00 | 6.710 369.05
-30.000 0.0 235.00 1576.86
4)
No h pw
GLaM | (my | ke
1 -2.000 | 1.000 0.00
-3.000 10.00
2 -3.000 1.000 10.00
-4.000 10.00
3 -4.000 | 6.000 10.00
-10.000 10.00
4 | -10.000 | 20.000 10.00
-30.000 10.00
5)
(kN/m?) (kN/)
ol ey | m
pp pa pw pa+pw
1 0.000 | 2.000 0.00 6.59 0.00 6.59
-2.000 0.00 15.91 0.00 15.91
2 -2.000 1.000 0.00 15.91 0.00 15.91
-3.000 0.00 17.94 10.00 27.94
3 -3.000 | 1.000 0.00 17.94 10.00 27.94
-4.000 33.65 19.98 10.00 29.98
4 -4.000 | 6.000 67.00 34.32 10.00 44 .32
-10.000 115.00 58.32 10.00 68.32
5| -10.000 | 20.000 369.05 26.80 10.00 36.80
-30.000 1576.86 68.16 10.00 78.16
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No h
GL(m) m pp pa+pw p
KN/m? KN/m? KN/m?
1 0.000 | 2.000 0.00 6.59 6.59
-2.000 0.00 15.91 15.91
2| -2.000| 1.000 0.00 15.91 15.91
-3.000 0.00 27.94 27.94
3 -3.000 0.884 0.00 27.94 27.94
-3.884 29.75 29.75 0.00

27.94
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B
B
, (kKB | 17599 X 1. 000 .
g = = S = 0.5961(mn™")
4E] o 4X0.210X10°X 0.00166000X 1. 000
kH 17599 (kN/m*)
B 1.000(m)
E 0.210x 10°(kN/m?)
| 0.00166000(m*)
a 1.000
1 B 1.6775(m)
No h kH kHx h
G.L.(m) | G.L.(m) m kN/m3 kN/m2
1 -3.884 -4.000 | 0.116 17599 2041
2 -4.000 -5.562 | 1.562 17599 27481
b2 1.678 29522
kH ~ kHx h >h 17599 kN/m?
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_ 1 - 1
lm = =g {tan"—op7,
B m’ 0.5961
P kN/m 56.77
M kN.m/m 98.39
ho m 1.733
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m 0.529(G.L. -4.413)m
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\/4E1a _\/4><0.210><108>< 0. 00166000 X 1. 000

17599 X 1. 000 .
= 0.5961(m")
kH 17599 (kN/m*)
B 1.000(m)
E 0.210x 10°(kN/m?)
0.00166000(m*)
a 1.000
1 B 1.6775(m)
No h kH kHx h
G.L.(m) | G.L.(m) m kN/m3 kN/m2
1 -3.884 -4.000 | 0.116 17599 2041
2 -4.000 -5.562 | 1.562 17599 27481
b2 1.678 29522
kH ~ KkHx h >h 17599 kN/m?
BH 10.0(m)

FORUMS8
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o1
_ _(A+pB -ho)
02 h
_ (1+2- 8 -ho) ..
02 = Fla B’ P-+h
03 h
03 ( )
p-L’
03 = —A%4+31° =N
il a { } (1)
A ho/L
L (m)
B ! 0.5961
E x 10°kN/m? 0.210
1 m* 0.00166000
a | -——- 1.00
M kN.m/m 98.39
P kN/m 56.77
ho m(G.L.m) 1.733( -2.151)
m 0.0750
h | m(G.L.m) | 3.884( 0.000)
01 m 0.0078
02 m 0.0273
o3 m 0.0081
5 81 32 83 m (o) 0.0432

FORUMS8
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1

KC350
2

M
x 10°(N.mm/m )
Min 112.05

3

Mmax < o Mc*®
Mmin < o Mc

Mmax : (N.mm/m)
Mmin : (N.mm/m)
a :
Mc : ( ) (N.mm/m)
Mc" : ( ) (N.mm/m)
x 10°(N.mm/m ) x 10°(N-mm/m )
M a Mc(Mc*) a Mc
Min 112.05 | 1.00 190.00 190.00
Mc * Mc*®

FORUMS8
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( 1 ) ( 15 )
G.L.(m) 0.000
G.L.(m) | -10.000
G.L.(m) | -3.000
Ld m 7.000
G.L.(m) -2.000
G.L.(m) -3.000
hw m 1.000
Yy w kN/m’ 10.0
q KN/’ 0.000
Fs = %— = Fsa
W q U Fs
(N/E) | (kN Fsa
48.00 7.13 6.73 1.20 | o
y' Ld  48.00(kN/m?)
’ (kN/m?) ( - ),
No Li ) Vs
y y ' iLi
G.L.(m) | G.L.(m) | (m) (kN/m) (kN/m)
1 -3.000 -4.000 | 1.000 6.0 6.00
2 -4.000 | -10.000 | 6.000 7.0 42.00
2z 7.000 48.00
U= p.-LOTywrhw g g g00m)
U yw hw 10.00(kN/m?)
A A A1l A2
Al ( Al 1.5 Al 1.5 )
A1l 1.30 0.70 B Ld %
A2 ( L B )
A2 0.95 0.09 L B 0.37 2%
B | LM ld | A1 A2 A
13.500 13.500 1.929 1.821 1.000 0.998 1.817
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G.L.(m) 0.000
G.L.(m) -3.000
G.L.(m) -2.000
G.L.(m) -3.000
y w kN/m® 10.0
q kN/m? 22.63
y i Hi
y i (kN/m?)
No Li ) v s s
y y ' iLi
G.L.(m) | G.L.(m) | (m) KN/ (KN/m)
1 0.000 | -2.000 | 2.000 | 16.0 32.00
2| -2.000| -3.000| 1.000 | 17.0 17.00
b3 3.000 49.00
a kN/m’ 2.0
b | kN/m 5.0
Fs 1.2
X0
_ [aH+ 2bH
4a
\/2.0>< (3.000)™+ 2X5.0X3.000
- 4X2.0
= 2.449 (m)
2
Fs = —————— {(al+b) X 7 +2 X2’ X '+ 2abH
2 vyi-<Hi+q
2
49, 00
=2.21

2.210 1.20| o

Mzoxamm+5o)xn+2xJ@ﬁVx(&mmﬂ+2xzox50xaom}

FORUMS8
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